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KCPE TRIAL EXAMINATION
= STANDARD 8 — 2014
HIGH FLYER COMPOSITION

SERIES
007

Time: 40 minutes

YOUR INDEX
NUMBER |

YOUR NAME

NAME OF YOUR
SCHOOL

READ THESE INSTRUCTIONS CAREFULLY

1. In the spaces provided above write your full Index Number, Your Name and Name of

your school.
2. Now open this paper read the composition subject carefully and write your
composition on the lines provided.

This Question Paper consists of 4 printed pages.

For tips on how to write best compositions, get a copy of “HIGH FLYER SERIES COMPOSITION”

Branded Eagle is a mark of genuine High Flyer Series Exams and Books. Beware of imitations.

o High Flyer Series, 2014 Tel. 0723 499860 TURN OVER

“For better grasp of the subject get yourself a copy of HIGH FLYER SERIES STD. 8 ENGLISH OR
HIGH FLYER SERIES STD. 8 ENCYCLOPAEDIA.
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Below is the beginning of a story. Complete it making it as interesting as possible.

After shaking hands with the visitors, | ushered them to the sitting room
where my doting parents were. They were
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KCPE TRIAL EXAMINATION
STANDARD EIGHT - 2014
'ENGLISH

' Time: 1 hour 40 minutes
HIGH FLYER
‘SERIES
008

READ THESE INSTRUCTIONS CAREFULLY |

1. You have been given the question booklet and a separate answer sheet. The question booklet contains
50 questions.

Do any necessary rough work in this booklet.
When you have chosen your answer, mark it on the ANSWER SHEET, not in the question booklet.

HOW TO USE THE ANSWER SHEET
4. Use an ordinary pencil only.

Make sure that you have written on the answer sheet
' YOUR INDEX NUMBER
YOUR NAME
' NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School
Code Number and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.

Do not make any marks outside the boxes.
Keep your answer sheet as clean as possible and do not fold it.

For each of the Question 1 — 50 four answers are given. The answers are lettered A, B, C and D. In
each case only ONE of the four answers is correct. Choose the correct answer.

10. On the answer sheet the correct answer is to be shown by drawing a dark line mS|de the box in which
the letter you have chosen is written.

EXAMPLE
Choose the alternative which is the opposite of the underhne%word

20. The pnnCtpaI was called when a large group of boys g&} ‘of hand. This means the boys

A. became uncontrollable B. handed over 'punishmen't
C.’used abusive language D. started a fire

The correct answer is A
On the answer sheet:

2 [ISIOESIY 1+ IGECES] 20 PIGICRGE 5+ [CIGICIGE 4 (NEIEICE
in the set of boxes numbered 20, the box with the letter A printed in it is marked.
11. Your dark line MUST be within the box.

12. For each question ONLY ONE box is to be marked in each set of four boxes.

Branded Eagle is a mark of genuine High Flyer Series Exams and Books. Beware of imitations.

F&=  ©High Flyer Series, 2014  Tel. 0723 499860 TURN OVER
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Read the passage below. It contains blank spaces numbered 1 - 15. For each blank space,
choose the BEST answer. from the choucegglven. :

On arriving at’ Bwana i shopi ¥ ordered thelcrowd to 2 . | allowed
3 to stay ;
In my 4.: <% allowed that a shutterson the =+~ =~ § | window was broken.
Examining the ground, | saw a footprint 6 the wmfndow | 7 that this
was an important 8 - of: evidence. Lirealised that the footprint had been
9 _ by a man’s left shoe with a crack in its 10 . | made the: accused
117 7" in some sand. | then 12 _the footprint with that of the accused
and found that they 13 . Infact, they were 14 7 then 13
the accused. TENTIRe
A B C D
1. Pesas’ ~__pesas o pesa’s pesa
2. discuss ~ dispense "~ despair disperse
3. noone o no one none no body
4. investigation sight looking order
5. rear rare really S real
6. beyond between beneath before
7. chose informed =~ think - observed
8. peace pierce " nice’ piece
9. brought taken madg burst
10.core sole Ctop - lace
11.stand walkk crawt jump
12.compared saw " exampled sorted
13.marched marked " matched : worked
14.liking identical - . talked discussed
15.jailed . L persecuted judged arrested
In questions 16 to 18, choose the word that 20. After Kamau Bearu worked hard all
means the same as the underlined. - . ~day, he dozed as soon as
16. Inguta was the brightest pupil in our he sat down.
class. C . ‘ A. down B. up
A. Best / ~ B. Famous " C. out D. off
C. Toughest D. cleverest - :
21. The meal was __ tasty that
17. The peasant found it very difficult to Kigweru asked for some more.
bring up many children nowadays. A. too B. so
A. Raise - . .. B. Feed _ - C. quite ’ - D. very
C. Educate D. Bear '
SRR For questions 22 and 23, arrange the
18. Kateiya will finally be a good athlete - sentences given to form a sensible
A. Eventually ‘B. Actually h paragraph. '
C. Lately D. Lastly \
o L . 22.{i) He was humble and kind to his
For questions 19 to 21, select the = : neighbours S
alternative that BEST completes the T ' (il  Munyua was a famous and rich
sentences. _ o trader.
’ (iii). His family too helped the needy.
19. Thegeesehad =~ twelve , (iv) He supplied all kinds of goods to.
eggs in a fortnight, - wholesalers in Nyahururu.
A. lain B. lay A. (i) Giv) () (i) B. (i) {ii)) (iv) {ii)
C. laid D. layed C. (i) (iv) (i) ) D. {ii) () (iv) (iii)
008/ Std. 8 2




C. Limuru was ten kilometres South of -37. During school days the children could
Murengeti. cover?
D. Indian Marchants and British master “A. 10 kilometres B. 7 kilometres
B 'stayed at Murengetr C. 24 kjlometres D. 14 kilometres
34 Whenever Wangrru could overstay - 38._.According.to the passage their mothér
“ A She could sent foad to.her children: provided them with everythmg apart
“B::'She could leave her own children from? ~ . ;
with enough food : A. Food and fuel .
©- C:iHerchildren -woeuld .visit her to get . B. Clothes and water.
edfood e ' C. Fuel and water
D.: Mugatha cculd trarl behrnd her -+ D.. School and house .
35. Durmg their visits to therr mother’s 1 39. From the passage, Esther Wanjrru died
“place of work - g ‘ : at the age of about? -
A. They saw a train and were very 3 A. 60 . “B. 75
Jtred oo o | C. 55 : D. 65
B. . They enjoyed eating and playing e
€. The listened to stories and learnt 40. The BEST title for this passage is
songs. ’ e . . o ,
D. They ate 9°°d 9°d and saw a train A. It is hard to overcome challenges
B. Hard work does not go unrewarded
36. Cindo and Mugatha llved at C. Mugatha lives in Denmark
_— " " D. Cindo the educationalist
A. Manguo ' v B. Limuru
C.- Murengeti® D. kamirithu

Read the following passage below and answer questions '41 toe7’50

The poor economic performance recorded in Kenya has largely been blamed on bad
governance and wide spread of corruption. Kenyans mustact on this bad trend, if we are to a
make any progress in dealing with economic problems. Surprisingly, Kenya is richly endowed
with many economic resources. Proper and sound management of these resources will. assist
"Kenyan economy to high economic herghts If the existing natural resources in the country are
tapped and exploited for the good of all the people, the poverty eradication can be achieved.
However, as long as we are not bold enough to do this, than our people will continue to
languish in poverty. The people in leadership positions must sit down and resolve to find a
lasting solution to the plight of the ordrnary Kenyans.

The most effective way of dealing with these challenges is instilling self discipline in the
public service. This is because these are the experts who are expected to educate the citizens
on the actual implementation of the plans that the government has put in place. These policies
are the routes we should take towards economic prosperity. If we fail do this, then we are
domed.

In spite of the sorry state of affair in our country which have been encroached by poverty,
the National and county governments have the capacity to solving these problems. The situation
has been worsened by other challenges such as poor food security and killer diseases like
Malaria and AIDS. Kenyan researchers, planners, governments and citizens must put great effort
to eradicate these challenges. Kenyans must provide home grown solutions’ to our woes. We
must be ready to pay the price for the ful} realizations of enjoyable life in Kenya.
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41.

43.

44,

45.

According to the passage poor
economic performance has been
contributed by the following except?
A. Corruption

B. Poor governancel

C. Honest , A

D. Economigs-performance

To solve the problem stated in the
passage the Kenyan govérnment must-
bring to an end of

A. bad governance

B. economic performance

C. killer diseases

f. good governance

The word problem is underline in the
passage, it means the same as

A. Woes
C. War

B. Diseases
D. Fight

Kenyan economy can realise greatest
economic development by )
A. proper utilization of resources.

B. exploiting resources.

C. poverty eradication.

D. exploiting corruption.

From the passage one of the following

is not the business of public servants.

Which is it?

A. Economic planning

B. Enlightening citizens on their role in
development

C. Sabotage of economic prosperity

D. Implementing development plans
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46.

47.

48.

49.

50.

1
The people in leadership should resolve
to find a lasting solution. This means
that the leaders. should
A. depict
C. decide

B. resound
‘D. dissolve

In the passage the word encroached
has been underiined, it means?
A.- 1t is diffieutt te~eradicate

B. It has spread to old areas

C. it has become new to us

D. It might spread to near area

Home grown strategies to overcome
must be offered by
A. foreigners

C. economists

B. citizens
D. banks

According to the last paragraph, which
of these may have worsened the
situation in Kenya?

A. Burden of fighting enemies

B. Providing homegrown solutions

C. Poor food security

D. Capacity of facing the challenge

Which statement is correct according

to the passage

A. Kenyan solutions are best for
Kenya

B. Kenya should employ foreigners.

C. Kenya has no hope for any better

D. There is no solution for Kenya’'s
economy '
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23. (i) We had hoped they would leave ' B.  Nairobi the capltal of Kenya, is the
-earlier. _ - biggesty city in East Africa.
(i) When they got to the bus-stop. C. Nairobi, the capltal of Kenya; is the
(iii) Our guests stayed late : ) . . ‘biggest city in East Africa.
{iv) the bus had just gone. ' D. Nairobi the capital of Kenya is the

A, (i) .(0) (iv) (i) B. (i} (i) (iii) (iv) , biggest city in East Africa.
C. {iv) (i) (i) (i) D. (ii) (iii) (iv) (i) - , : : v .

: ' ‘ A. Lets’ have our meal at one oclock.
_In questions 24 and 25, chose the B. Let’s have our meal at one o’clock.
~ sentences that is CORRECTLY punctuated. ‘ C. Lets have our meal at one o’¢lock.
' ' ' D. Lets’ have our meal at one ‘oclock.

24. A. Nairobi, the capital of Kenya is the
biggest city in East Africa. '

Read the passage below then answer quest'ions 26 -40

Esther Wanjiru; a medium sized brown lady, was her two children’s bread winner and
mentor. Kenya's liberation war had deprived hér family their head who had been at the forefront -
in the sight for independence. She courageously resolved to bring up her children by hook or by
crook. The young pretfy lady was neat and organised and so her children had no reason to fall
below her standards. She was strict and led her family with an iron hand. Her children learnt to
carry out household chores at a very early age. Cinda could cook, tidy their circular tiny mud
walled grass thatched hut and still nurse her young brother Mugatha. Poor as they were, they
kept to themselves and shared the morsel of food left by their mother as she went.about her
daily tedious chase for casual labour. She could criss - cross Ngarariga, Githirioni, Kihingo,
Limuru, Ngenia, Tigoni and Kwambira in search for any work just to earn a penny.

Unlike Wamuhu, her comrades luck was always on her side for she never missed work.
~After work she was kind enough to share some of her wage with her friend for they sailed in
the same boat among the kinds of tasks she got included, splitting firewood, weeding gardens,
laundering, cleaning..compounds and. carrying bags of charcoal from Murengeti to Limuru.
Murengeti was a forested area about ten kilometres North of Limuru town. At times, she could
relieve housemaids who worked for Indian Merchants or British masters whenever they were off
duty or had personal issues to sort out away from the town. As she attended to Indian and
British - children she could leave her ‘own with enough food for the days she was away.

Whenever she overstayed, Mugatha trailed behind as they headed to Limuru 'through a short cut .
along Rongai. In spite of the distance, the duo enjoyed the visits for they had an opportunity to
see a train at Limuru Railway Station. Above all, they could be fed with high class. food from
their mother’s -employer. The meals were just super and delicious beyond -their imagination.
‘Memories of the food still linger in their minds todate. After the visit, the duo went back with
loads of edlbles clothes and shoes given to them by their mother’s masters.

Her children aged tight and one learnt to survive without' much worry. Cindo used to
prepare ‘supper before four o ‘clock and within an hour they fed and by six she locked the door
after extinguishing the fire she prepared food with. The duo did not mix with other children at
- Kamirithu for they were indeed poor and were brought up by a woman. Their happiest moments’
were when Wamahu’s children could come from school and join them at least to have a chat.
Whenever Wamuhu was at home, she came for them just to give them company. Cindo missed.
such times for they could have talks and learn stories from her. Wamahu was. a great story teller -
who entertained Wanjiru’s children when she.was free. Cindo learnt stories; s)ongs",énd riddles
from her. :

)

Cindo'join.ed Mangue Primary School at the age of eleven since Mugatha had to be taken
care for. She was overburdened by household chores which included fetching firewood and
water from Rwambogo. With the tedious tasks and poor diet her waist was thin such that other
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chﬂdren nicknamed. her Gaicuhie. "Rwambogo water pomt was five kilometres from Kammthu
and she had to take water home in-a metallic container that held twenty five litres of water and
some firewood on daily basis. Mugatha followed his sister and brought home water in a five. litre
tin container. The duo had ‘to run all the way from school to home a distance of seven
kilometres after which they went for water and fuel. Running was the order of the day to enable
- them catch up with time. Even with these challenges, the duo lived happily and worked hard.

Their mother supported them and encouraged them never to give up. She narrated to them
about the hardship she had encountered when her mother died when she was ten years old and
had to look after her four months sister Wangari. She painfully stated that her life became very )
difficult-after she lost her mother in 1945 and her father had been jailed a few month earlier by

the colonial government,

With their mother’s'encouragement Cindo did not- study beyond Primary School but
trained at the National Youth Service College and later worked with Kenya Prisons where she
retired in 2006 have educated her three children. Her first born is very successful teacher, the
second born is busmessman and the last born resides in. Denmark and is currently pursuing her
: master s degree in nursrng Mugatha is a polished ‘educationalist. His children are educated in
various fields and live happily. The duo’s children have taken their famlly s challenges and have
become very ambitious and industrious to emulate their mentor. Cindo and Mugatha wish that
their mother should have lived a little longer to witness what God had dong to her offsprings. All
in all, this was not to be achleved because she rested in peace in April 2010 but her candle still
. burns on.

.26. In the first paragraph it is-true to say 30. Before she went to look for work she

that Wanjiru . - ensured that
A. Had two children’s bread and ! A. she had swept their house
. mentor. B. her children had food to eat.
B. Had no famlly of her own. C. Cindo had fed Mugatha.
C. Had deprived her family’'s head. D. Cindo and Mugatha had gone to
D. Had jost her husband during the o school.
war. ’ : . ) . ~ . ) . G f
Co ’ 31. “She could criss - cross Ngarariga,
27. The word d’eg‘ rived has been underline. - Githirioni, ............... means
It means the same as - T that
A: taken to . B. dlvorced A. work was everywhere
C. separated . - D. taken away B. work was hard to get. =~
C. they had to work everywhere.
28. Accdrding to the passage Wanjiru D. criss - crossing a type of work. -

resolved to see her children grow

A. In the village . 32. Inthe second passage ' . - .
'B. Atanycost ' - - ' © A. Wamuhu was as lucky as her
C. Like children of the rich ' | ~ comrade
D. Like all children” . i AR B. Wamuhu was not as lucky as her
' ’ N R ‘comrade. .
29, 1tis FALSE to state that : - C. Wamuhu and her comrade sarled in
A. Cindo and Mugatha grew up the ) o boats - :
Vhardway s o D. Wamuhu and her comrades were
B. Esther V\/anjrru was caring, ot - lucky ladres
hardworking and courageous. - o
'C. Cindo and Mugatha were born with 33. Itis TRUE to state that -~ .
silver spoons in the mouth. : A. Murengeti town was ten krlometres
D. Esther Wanjiru was strict and very o ~ North at _leuru
organised. » - | .~ B. Bags of charcoal were taken to
' o ' Murengeti. '
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JARIBIO LA MTIHANI WA KCPE
DARASA LA NANE - 2014
INSHA

HIGH FLYER
SERIES
007

Muda: Dakika 40

| NAMBA YAKO
YA MTIHANI

JINA LAKO

JINA LA
SHULE YAKO

SOMA MAAGIZO HAYA KWA MAKINI

1. Kwenye nafasi zilizoachwa hapo juu andika namba yako kamili ya mtihani, jina
lako na jina la shule yako.
2. Sasa fungua karatasi hii, soma kichwa cha insha kwa makini na uandike insha
yako kwenye nafasi zilizoachwa.

Kijitabu hiki kina kurasa nane zimepigwa chapa.

Kwa maelezo Mufti ya mbinu za uandishi wa insha pata nakala yako ya
“HIGH FLYER SERIES INSHA SHESHE”

Sy
%, 37
e RS ., Branded Eagle is a mark of genuine High Flyer Series Exams and Books. Beware of imitations.

¥&=  © High Flyer Series, 2014 Tel. 0723 499860 Fungua kurasa
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Andika Insha kuhusu mlipuko‘ wa bomu mjini. lwe ni insha ya kusisimua na
iandikwe kwa hati nadhifu.lsipungue ukurasa mmoja unusu.

...................................................................................................................................
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JARIBIO LA MTIHANI WA KCPE
DARASA LA NANE 2014

Nk A LUGHA YA KESWAHILI

HIGH FLYER

"SERIES. | - g o Muda Saa1 daklka40
008 | | |

. 11 Chora Kistari chaka \ _zun sztarl chako klwe cheusa na klsuitokeze nje ya klsanduku PR

SOMA KWA MAKINI MAAGIZO YAFUATAYO | S

Umepewa. kqltabu hiki cha maswah na karatasx ya kujibu. Kmtabu hiki kina maswa_h 50
lkiwa utataka kuandika chochote ambacho si jibu andika katika kijitabu. hiki.

" Ukisha chagua jibu lako honyeshe katika KARATASI YA MAJIBU na wala sio katika kuttabu hiki cha
maswal( ~

Ny =

p.) .

JINSI YA KUTUMLA KARATASR Y‘A MAJ&U
4. Tumia penseh ya kawaida. . s : . R
5. Haklkxsha ya kwamba yafuatayo yameandlkwa kauka karatas1 ya ma;:i)u ) e R

NAMBA YAKQ YAMnHAm ST e
JINA LAKO-. - | R t
mu SHULE YAKO

B. Kwa kuchora krstan kaﬂk& vrs‘ ’f: iku vvenye namba zmaiokuhusu onyesha namba yako kamm ya mtxham

- {yaani namba ya shule na z’le namba’ tatu za- mfahm'wa) katika sehemu thyotengwa mwanzo wa karatasi o
vamaﬁbu . . . ST ) ‘ e TR B . ‘\
Usitie alama zozote nje ya *Wsanduku : . ‘ . o L
Iweke safi karatasi yako ya majibu.

, Kwa kils swali 1= 50 umepewa majibu manne. Majrbu hayo yameonyeshwa kwa heruf; A B, C, D N: - i
jibu MOJA tu kati ya-hayo manne ambayo ni sahihi. -Chagua jibu hilo. e i

10. Kwenye kafatasu ya maijibu, jibu. -sahihi honyesﬁwa kwa kuch@ kustan katska kssanduku chenye herufn

uhvaehagu& kuwa ndtk) jibw. . &

‘MFANO -
Katika- kuﬂabu cha maswali'

e

: 21.Tum|a klwakmshl amba ku;aza mwanya ‘ é
’ a

~ Mtoni . __ anateka majl ni kuch ‘ SR

c. ambae POV D. ambakp e
JIbU Sahlhl mD . ' o '

Katlka ratasi ya m ajibu

{Al 81 [C} zm LAi 181 €} IA} {B] {c1 [D}

'AIAH;&} ic1 1D} u[A} [B} [l [D]

Katlka visanduku vmavyoonyesha ma;xbu ya swah namba 21 k:sanduku chenye heruﬁ B ndlcho
klhchochorwa ksstan : . : .

12. Kwa kﬂa swali, chora k;stan kattka kdsanduku knmo;a tu kat: ya vrsanduku vme uhvynpewa

andd Eagle is‘a mark of genume ngh Fiyer Senes Exoms and Books Be,wﬂn ef lmltaﬂons

©H|gh Flyer Senes 2014 . Tel 0723 499860 , Fungua Kurasa
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" Jaza nafas: 1-18 kwa

‘punda huoga 7. mchanga -al vumbi. Utamwona ot

1
2
3
4
5
. 6. nilipoweza
7 .
8
9.
1

o l4dpl - yapi ‘ yupi

17,

19 Kutokaaa na
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U‘safl ni
4
akiwa amechukua dédoki saﬁuﬁ% na tamo akta%ekea baf

9.  na 10 hkmfukana na kupa‘

A T B C
. hayawani S ‘,.ramm SR fmwenda waz;mu nwenye
. msafi " mchafu . safi 0 chafu
.ondiye oo oo oadic . ndike
5. yeyote . wowote : . .yoyote 7
wnunfsirs;vewwez:au o nilivyowai - nilivyowahi - . o
AMoj cwernye katikatiya . o

3
-3
=¥

. ha A

. akiztihguruka
lingi -

0. mzrta

'Wahehgnzaﬁa had j

11.ingine © ~ = nyinginézo - .tmgme}a
12hug .~ hiyo oo ohuo
13kwa ya T ma

15.kwa. DL ka'ﬂka ,juu’ va

16 Kntenza Fag katika hah ya. kutendesha ni

B fagmza,
- D. fagilishwa

A fag|shwa |
C fagilisha

AL tuhza moyo S
B. kubaliananamtu
C. kutoheshimu B
D kuomba radm

,,,krtenm lima, Je, nom
‘kitenzi kipi?*
CA.Salio - B :
C sala R P D kusaiuna
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Woga wako____ unaosababisha '

usilale'vyema. =~ e G
A.ndio B e
C ndwvo ‘ ;' B ndwe

23. Neno Izhloplgnwa mstari’ kattka seﬁtaﬁsi
4fuatayo ni?
~ Mijana'wengi’ hufﬁmbea haraka
“A. nomino Camne ; :
 C. kietezi

24.Haya ni maurmbe

A,'-‘;mraba m#stan m,
B, ,mche mraba v
mwezi Thwa :

- C. mstatili, mistari mishazari, gt
RE R mehe duara, mistari samba

25 Mfano bora wa. wvamlslu sugmm
“hodari, safi, duni, dhaifu, -
~ghali, chaf,u ‘kubwa, na._,_;;, ERTE
‘chafu kubwa, erevu, non
.‘tete, nono, eupe hodan '4

»OPW?

- 'magharibi
C: é!fapn asubuht,

yake yamo hatan,m . :

-~ Fisi ‘wengine: wawﬁt Wahmkuta ak:kfmbsa huku akxtweta Waiwhtuk :wakamwuﬂia‘;j Mbona;.:i

unatimka mbio.? Kuna nini utuelezel’

- Usiniulize!” Fisi wa kwanza ahsma huku aktendeiea kukxnlbaa Wa{e ﬁsn wawm wahmfuata mbno na-;_ L
kumwomba awaeleze kama ameona jambo lote la hatari. o o SR

““Nyinyi hamijui kuwa ardhn maporomnrka na ardh: mav&nﬂka vxpande'ﬂwpaﬁde% fﬁsri"'

: 'aluamka huku ak:tweta e C L e
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lkaanguka t:fu* Karrbu ’sana ha sckm la f:s1 FlSTl ali
nyuma. Mshmdo wa nazi uhmfanya yeye kuftkm _'kuwa 'm‘ﬁﬁ‘\

aangukiwa na =
az+ kavu na.



- 31 Kulingana na kafungu hiki pameta;wa ‘aina

Kama kuna janga kama htio,s&s; tutakatmbta kama wewe wa!e fisi wawili wahtamka Kwa hakika
walijiunga. na fisi. wakwanza kukambla baada ya kupata u;umbe ule:wa - mckma kuporomoka na ardhi

kuvunjika.

Wanyama wengme kama wle duma nyata na punda milia wahuhza sababu za wanyama kuklmb:av
vile na wahpoelezwa walungaa katika kund” la. kwenda shoﬁ

ngapi za wanyama
A. mbili-

- ,B- ,tatu,‘ B
C. nne

‘D.-tano

32.Fisi a!ijibwéga chini ya mnazi takriban saa -

A. tano i
- C. tisaunusu D. nane kasorobe
33. Kuhngana na muktadha ;mamnzl ni.

. ndoto ndefu Lo
ndoto ya furaha = ;
. ndoto ya kutisha -
ndoto ya mcha'na‘:

pow>

34.Nini kihchomfanya fisi kuk:mbra? T
A. Mshindo wa nazi myoangushwa na
- kima
B. Milima- kuporomoka na ma;abah
kuangukia -watu na wanyama

C.. Sadfa ya nazi kﬁanguka kwa ktshmdo o

“akadhani milima- inaporomoka.
D. ,Wega wa zvﬁzaia - .

35. Sababu kuu ya fisi wawili kuandamana na
fisi wa kwanza katika. mbio ni .

A. Ardhi ilikuwa ikiporomoka ma;

vipande vapande

k_By. Fisi wa kwanza ahkuwa kwenye hatan. Y
- C. Fisi wa kwanza aliwaeleza kuwa ardhi . o

Hikuwa |k|pommaka na kuvun;lka
D. Fisiwa kwama ahkataa kuwaambla
'sababu vaka kuu ya kulambca

36. Kuhngana na muktadha, ni usemi up;
‘ sahtht? SR :

B. mbili na robo

- A. Duma aliongoza wanyama wengine
- katika jubudi za kutofoka.
.B. .Fisi wa kwanza alisimama. kuwaeieza
~fisi wenzake hatari iliyowakumba ,
C. Kima ndiye. ahyesababxsha madbhara
©  _hayayote =

‘ D Wanyama hawakuwa na uhak;ka

.)f-fwahchekatcroka o ‘

37 Methah rfaaﬂyo za;dt kueieza k:sa hakn ni

A Asnyesma la mkuu huvun;xka guu

B. Wajinga ndio waliwao -

C. "Wagombanao nd:o “wapatanao -

D, Penye vipofu wengn, kengeza ndtye
hﬂfaidi ‘

38 K;ma ahangusha nazi“ kavu tkaanguka chini
tiful Maanake ni kuwa___
‘ Ar.:Nﬁazr {ta\?u ﬂ:anguka kwenye sakafu
ongumu©
~ B. nazi kavu ilianguka mchangam
C. Nazikavu manguka karibu na sxkso la
: fisi - :
o D’. nazi kavu manguka *kapasuka tifu!

39 N: sifa z;p: haznambatam na mnyama
: _husaka

A, fssu-ulaﬂ

B. duma-mbio

C._nyati- bughudha -

D. 'gunda miixa—werevu

40 Mada rfaaya zaid’l kwa kma hlki m7

-A.;u.zmza!a pmmf
- B. jinamizi- ‘
C. ndoto va mchana
- D. _,.wanyama waktmbxzs

Sama taaafa :fuatayo kisha u;lbu maswaﬁ 47- 50 :

Enzi za kale hata kabla va kula kwa wazungu huku kwetu Afnka tuhkuwa hatutumu kalenda '
kama ilivyo sasa kuhesabia miezi. Ukipeleleza kwa yakini kuhusu swala hili, utagundua kuwa majina
ya miezi kama tuyajuavyo leo, yaani kuanzia Januari mpaka Disemba yahkuwa hayatumdu Swali

langu kuu ni hili: Miezi. lhhesabxwaje nyakati hlZO7
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f:"'-"A ‘Mwaka wao haukuwa na’ mrezt

~

»Nvakat: zde, m:ez: mkuwa |k:hesab¢wa kwa kufuatana na mﬁtﬂkm Ftﬁbhi M&th&!am mw&ﬁ‘f?‘ e mja
mzito aliujua muda wa kuibeba mimba yake kwa kuhessbu miezi kila tigra mwezi uliposndsrma.
- Msafiri aliweza’ kujua muda wa safaﬂ yake kutaka s‘

kuhesabu mchana na ustku

_ Baadhl ya jamii. humu nchfm zﬁiguwaf
kuhkuwa na majira yajua kali, mvua kubwa,

.zmweka kumhukum; ya matuk:o maalum kama vﬁé tahara n}aa, wta mafuﬂka rxé u*_ f

i r;«ao mw:ez: wa Dasemba ukattwa tnpe m;a’

8 ;vFehruaﬂ;umwa tuanze kulima ‘Machi na Aprili cha mvua’, Mei

miu maia hadi. n?mgiﬂe kwa fmangaha ;ua au e

akc maji', Naa mwezr wa g™
mavuno, ‘au’ nafaka mashukem L 3

Juni. * midomo m;chafu na mwssho mwezi wa Jutat ukantwa majira yé kuémguka kwa nyuni’.

Hili ni dhibntisho wazi kuwa hata kabla ya kuja kwa fh I, Wi

kutumia ka!enda za ktzungu

41 Waafrika wa zamani hawakwva na
kalerida za-miezi-kumi na mtwm kwa S
~sababu: :

rmwm

“D. ufaraﬁbu g -

CRTI .

AL Wakatn mwﬁti Qitpafuata }ua T
B, W@katt mweza uhpatoa mwangaza

&S‘ Kuﬁnganﬁ na 'eaaﬂfa hu Waafﬂka wahanza RS

B, kawaida e |

| .rﬁéﬁ’kwa iz o

vya!e wetu hawakuwa na ha)a ya )

45 Haban Hii madhthwisha kuwa Waafﬂka wa vt
T zamahl; . o
‘ A.,;’hawakuwa na ha;a ya kmua siku au
“twezi

B, waliwka hesabu yasiki na mwezi <

Wﬁﬁb&ﬁ! uté?actibia wa kuhesabu mtez: g
”kuhngaﬁa na‘maj;ra yao
2 & wahchekuwa

kulimé, R
A, ,.kabia yé mvua kubwa kuanza s

_ r{BEsémba uhftwa m;se :

C. Wakati mwezi wa zamani ulipotoweka - L Ry

D. Wakati mwezi mpya ulipoonekana.
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- C. kuhma cha mvua, nyum kuanguka,
mavuno, jua kali

_~ D. kulima, mavuno cha mvua, 1ua kah,

“nyuni’ kuanguka

49. ’Kﬁlinvgana na taarifa hii ,unadhani 'k‘)va nini

watu wangekuwa na midomo mlchafu c

katika mwezi wa Jum7
A. hakukuwa saa za kusafisha m:domo

008/ Darasala 8 ' 7 -

« B ‘watu wahkula chaku!a na
hawakususukutua m;domo baada ya
kula : :

' 'C.. ni‘ishara ya chakula kuwa kmgt ; _

- D. hakukuwa na maji kwanl ni- msimu. wa a
- k|anga21 T

50 Haya ni maneno yahayomaamsha saw' na'

e G G

wavyele |S|pokuwa PR R S 3
A. wazazi ' B. wahénga.f 1

'C. mababu - D. wachanga
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10.

You have been given the question booklet and a separate answer sheet. The question booklet contams 50
questions..

Do any necessary rough work in this booklet.
When you have chosen {/our ansWer, mark it on the ANSWER SHEET, not in the question. booklet.

, HOW TO USE THE ANSWER SHEET
Use an ordinary pencil only. :

Make sure that you have vyrityteh on the answer sheet.
"~ YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL

By drawing a dark line inside the correct numbered boxes mark ‘y'our full fhdex Number (i.e:" Schd(JI Code
"Number and the three-fioure Candidate’s Number) in the grid near the top of the answer sheet.”

Do not make any marks outsrde the boxes
Keep your answer sheet as clean as possible and do not fold it.

For each of the Question 1 — 50 four answers are given. The answers are lettered A, B, C and D ‘In each
case only ONE of the four answers is correct. Choose the correct answer ‘

On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in WhICh the
Ietter you have chosen is written

EXAMPLE .
In the question: Booklet

24. A cylinder has a volume of 831.6cm?. If the height of the cyhnder is 1bem, what is the .

1.

diameter? (Taken = 2—72—)
A.42cm  B.8.4cm
C. 55.44cm. D. 0.42cm

The correct answer is B
On the answer sheet: .

-[A} [B] [C] D] 14 [A] [B] () 101 LR (A1 481 [C] [D] L3l (Al [B] [C] [B] 44 [A] [B] [C] [D]

In the set of bexes numbered 24 the box with the letter B printed in it is marked
Your dark line MUST be wrthm the box.

12. For each questlon ONLY ONE box is to be marked in each set of four boxes.

Branded Eagle is a mark of genuine High Flyer Series Exams and Books. Beware of imitations.

¥R~ © High Flyer Series, 2014 Tel. 0723 499860 TURN OVER
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1. Which orie of the following numbers is .- -

seven hundred and four thousand and
three hundredths?

“A: 700400.03

B. 704000.03

C. 704.03

D. 704000.30

2. Which one of the ratios given below
represents 121/2%?
A.1:8 © U B.12:5
C. 8:1 D. 5:12

3. What is the total value of 9 in the number

329410867

A. Hundred thousand

B. Nine million

C. Nine hundred thousand
" D. Ninety thousamd -

4. \What is 9805 to tine nearest hundred

thousand?
A. 100,000 _ B. 10,000
G- 9000 ... . D.O

5. What is the difference between the L.C.M

. and the H.C.F of the number 54, 72 and.
216? o
A. 18 B 198
C. 216 D. 234

6. What is the value of
8(74 —59)+ 6 x &
12

A. 84 'B. 20%/,
C. 58 | D. 14

" 7. In the figure below line AB and CD are
parallel. Line EF is a transversal

008/ Sud. 8

‘Which one of the following statements is
true? '

A.f+b=e+d
B.h+e=b+g .
C.f+c=h+a

D.b+e=d+f .

8. Milk was poured into three containers of
24 litres, 36 litres and 185 litres. The milk
in each container was then repacked into
smaller containers. The amount of milk in
each of the smaller container was the
same. What was the capacity of the
largest container used to repack the milk?

- A. 3 litres B. 6litres
. C. .36 litres D. 380 litres

- 9. What is the value of x in

© 3x+3=86x~12

rat
A. 25/,4 B. 211/,
C.3 - D. 25/17 '

10.A business lady packed 1.75 tonnes of tea
leaves into 500g packets. How many
packets were obtained? -

A. 350 " B.3500
C. 35000 . 350000

11.There is a loss of 15% when an article is
sold at sh 2040. At what price should it
be sold in order to make a profit of $5%?
A. Sh 2346 B. Sh 2652
C. Sh 2400 D. Sh 2760

12.How many days were there between 12"
February 2012 and 19" April 2012?
A.66 B. 67
c.68 - D.69 -

13.Mamati bought the followmg ttems
1 1/2k9 of rice @ sh 118
2kg tin of cooking fat @ sh 315
* "4 trays of eggs for sh 860
750ml of paraffin @ sh 80 per litre
- How much did he pay for the.items? .
A.sh 1727 B.sh 1412
C. sh 4307 D. sh1747




e

14.0bwaka deposited sh-35000 in a bank
whose simple interest rate'was 5% per
month. How much altogether was in the
bank at the end of the year?
A. Sh 21000 'B.Sh 1750 -
C. Sh 36750 D. Sh 56000

16.Jamila earned sh 24000. She saved 2/cof *

the profit and used a third of the v
remainder on rent. She used the rest to
pay school fees. How much money did
she use on school fees?
A. sh 4800

C. sh 16000

B. sh 9600
D. sh 6400 .

16.The area of the trapezium below is 644m?2..

What is the perimeter of the figure?

22m
- ‘ 77
, , ".70m
A. 106m " B.131Tm
C. 156m D. 204m

17.A farmer wanted to keep 520 quails and
880 chicken. He later decided to decrease

the quails by 1.21/2% and increase the
chicken by 121/2%. How many quails and
chicken did he finally keep?

A. 1445 " B. 1400

C. 990 ; D. 1355

18. Koros used 165 posts to fence his
circular farm. The interval between the
poles was 4m. What is the radius of the
farm? (Take 7 = 22/.)
A.210m
C.52.5m

B. 105m.
D. 26.25m

19.What is the perimete,r of the figuré below?
(Take 7 = 22/.)) ’

008/ Std. 8

A. 77cm
C. 98cm

B. b4cm
D. 119cm

" 20.The mean of nine numbers is 175/9). Eight

of the numbers are 21, 20, 16, 17, 18,
16, 19 and 15. What is the median of the
nine numbers?

A.16.5 o B. 17.5

C. 16 D.17

21.In the diagram below, ABCD is a rhombus.
Angle ABE = 25° and angle BCD = 115°.
Line EDC and EFB are straight lines.

A ,‘ B

E D - ] C
What is-the value of angle BFD?
A. 140° B. 155°
C. 115° D. 40°

22.A farmer has enough .’feed for 600

chickens for two weeks. How many more .

days will the feed last if 150 chickens are
sold to create more space after the first
two days? ‘ :

A. 182/, B. 16

c4 D. 42/,

23.A 51 seater bus and a 14 seater matatu
were hired to transport 339 people to a
wedding reception. Both vehicles travelled
together but the matatu made the last trip




alone. How many people altogether did
the matatu: tramsgort?
A. 255

C.70

B.98
' D.8s

24.1n the triangje XYZ below, line yz = 30cm,

“yn =nz and xy = xz = 17cm

17cm

What is the arem of triangle XYZ?

A. 240cm? B. 120cm?

C. 136em? D. 255cm?
25.What is the value of

2np? + 3m

mn o

Whenm=2n,p=5andm=p + 3?.

A.22%/s B. 503/,

c. 191/, D. 7

26. A school had! flour streams from std 1 to
std 4 and three streams from std 5 to std
7. Class 8 had five streams. There is an
average: off 30 pupils in each class. During

- an entertainmmemt show pupils were
charged as follows:
Std 1 to 3 - stv 20 per-pupil
Std 4 to 6 — siv 30 per pupil
Std 7 and! 8 — sh 50 per pupil
How much momey altogether was
collected from tte pupils?
A. Sh 13,200 B. Sh 7, 500
€. Sh 28,2000 D. Sh 33,900

27.Ngugt is 6 years older than Mochama.
Marende is a third of the sum of Ngugi
and Mochama's age. If their total age is
72, how old is Marende?
A. 24 years
C. 30 years.

B. 18 years
D. 16 years

008/ Std.. &

28.What is the surface area of the solid
below?

24cm
A. 952cm? B. 1176cm?
C. 11120cm? D. 784cm?

29.Muliro earns a basic salary of sh 18,600
per month. He is also paid a commission
ot 21/2% on the value of goods he sells
above sh 80,000. In one month his total:
earnings was sh 20, 100. What was the
value of the goods he sold during that

month? ,
A. Sh 60,000 B. Sh 140,000
C. Sh 804,000 D. Sh 884,000

30.Construct a triangle XYZ such that XY =
7cm, angle YXZ = 50° and line XZ =
11cm. Bisect angle XYZ and draw the
bisector to meet XZ at N. What is the size
of angle ZNY?
A. 85°
C. 90°

'B. 95°
D. 105°

31.The diagram below represents a half a
cylindrical solid of diameter 70cm. The
solid has a semi circular groove of radius
10.5¢cm. The length of the solid is 100cm

What is the volume of the solid? (Take 7
—_— 22/7) //.

A. 192500cm’®
C. 175175cm?

B. 17325cm?®
D. 123200cm®




32.Mwangangi bought a hundred chickens for
sh 30,000. Twenty chickens died and he
sold the remaining chickens@ sh 315.
What percentage loss did he make?
A. 5% A B. 84%
c. 191/, D. 16%

33.Hamisi left home at 10.20am on
Wednesday for a journey which took 23/4
days to complete.-On what day and time
in 24h system did he complete the
journey?
A. Saturday 0420h
B. Saturday 1020h
C. Friday 0420h
D. Friday 1020h

34.The figure below 'rebresents the net of a
cube :

P 01]0 N

H.  JjJ M

D|ID - K
F- EIE- D

A B|B C

Which edge will come into contact with

edge NM when folded to form a cube?

A. JK B. BC -

C.DC " D.AB
35.The incomplete table below -shows the

number of livestock sold and the cost of

each. The number of goats is not shown

No of animals | Cost per
animal in Ksh
Goats. . 13,600
Sheep 16 2,400
Cows 9 18,000
Chicken | 64 350

If the total sales was sh 266,000 how
many animals altogether were sold?
A. 89 , B. 12

C. 209 D. 101

008/ Std. 8

Number of families

36.The graph below shows the number of
children far each family in a village

o

30

RN B
B o I B L
TTEETT

N
o«

- .
(=)

1 2 . 3 4 5
‘Number of children per family

How many éhildrqn are there in the

village?
A. 91 . B. 455

C. 222 D. 320

37.0n a map whose scale is 1:100000 a
piece of land is represented by a right
angled triangle measuring 3cm by 4cm by
5cm. What is the actual size of th'is land in

hectares? :
A. 20 ha B. 1000 ha
C. 600 ha D. 200 ha

38.The floor-of classroom measures 10m by
8m. The floor is to be covered by square
tiles of sides 50cm. If each tile costs sh
80, what will be the cost of the tiles used
to cover the whole floor? _
A. Sh. 25,600 B. Sh. 16,000
C. Sh. 12,800 D. Sh. 32,000

39.0chuka wants to fence his square plot of
land whose area is 9 hectares. He decides
to space the fencing posts at intervals of
3m around the plot. How many posts will

he need? ‘
A. 401 _ B. 400
C. 100 D. 101

40.A cuboid measures 12cm long 8cm wide
and 6cm high. What is the total length of
the edges in centimetres?

A. 576cm B. 80cm
C. 104cm D. 108cm




41.The cash price of a generator is sh

~-585,000. The hire purchase price is 20%
more than the cash price. Kaloki bought
‘the generator on hire purchase terms. He
paid a deposit of sh 140,400 and 12 equal
monthly instalments. How much was each
monthly instalment? '
A. sh 70,200
C. sh 46,800

B. sh 58,500
D. sh 27,300

42.Anwar drove to town 24km away in 20
minutes. How long would Anwar take to
drive back home if his average speed to
and from town is 80km/h?

A. 16min B. 36min
C. 15min D. 12min

43.Juma is four years older than Hemed and
five years younger than Ashwag. The sum
of their ages is 88. If Hemed’s age is h,
which one of the equations below can be
used to find Hemed’s age?
A.3h+9 =288

“B. 3h -1 =288

C. 3h + 1 =88"
D. 3h + 13 =88

44. Construct a triangle ABC such that AB =
11cm, BC = 6cm and AC = 7cm. Bisect
angle ACB and let the bisector meet line
AB at D. What is the measure of line BD?
A. bcm B. 6cm
C. 4cm D. 3.5cm

45.How many more cubes are needed to fill
the stack below?

008/ Std. 8

46.Which of the following expressions is the
simplest form of
6(2t + 2) + 4t — 4
3(t+ 1)+ 5t+ 5

A3t B. 2t+1

2 Sttt 1
C.2 -~ D.2t+ 8
8

47.The telegram charges were sh 32.50 for
the first 10 words. Every additional word
was charged sh 2.50. A tax of 12% is
charged on the total. The total amount
was then rounded off to the nearest fifty
cents. Ojode sent the following telegram

BAKARI MANENO BOX 7843 KILIFI
LUPITA NOMINATED FOR OSCAR
SUPPORT HER VINCENT OJODE
How much did Ojode pay for it?

A. sh 44.00 B. sh 44.80
C.sh 4450 D. sh 45.00

48.A rectangular water tank whose base is
1.8m by 1.5m is to be filled with water
using 40 litre containers. How many such
containers will be required to fill the tank
to a height of 1.2 metres?.

A. 8100 B. 8.1
C. 81 o D. 810

49.A cylinder has a volume of 9240cm?. If
the height of the cylinder is 15¢cm, what is
its diameter? (Take JI = 22/,) |
A. 14cm B. 7cm
C. 28cm D. 56cm

50.

i
o




Which one of the shapes below should be
drawn in the blank box to continue with
the pattern above?

-
. v

Al
- -
P . T
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READ THESE INSTRUCTIONS CAREFULLY

1. You have been given the question booklet and a separate answer sheet. The guestion booklet contains
50 questions.

Do any necessary rough work in this booklet.
When you have chosen your answer, mark it on the ANSWER SHEET, not in the question booklei.
HOW TO USE THE ANSWER SHEET
4. Use an ordinary pencil only.

Make sure that you have written on the answer sheet.
YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full index Number (i.e. School Code
Number and the three-figure Candidate’s Number} in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.

Keep your answer sheet as clean as possible and do not fold it.

For each of the Question 1 — 50 four answers are given. The answers are lettered A, B, C and D. In each
case only ONE of the four answers is correct. Choose the correct answer.

10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which
the letter you have chosen is written.

EXAMPLE
In the Question Booklet:
4. The carnassials teeth are mainly used for
A. tearing flesh B. grinding flesh
C. cutting flesh D. slicing flesh

The correct answer is D

On the answer sheet:

j /Al (B [C] +B4 [ERR(A] [B] [C] [D] el (Al [B] [C] [D] ?4 Al (81 (CI (D] PN (A] [B] (C] (D]

in the set of boxes numbered 4, the box with the letter D printed in it is marked.

11.Your dark line MUST be within the box.
12.For each question ONLY ONE box is to be marked in each set of four boxes.

/

&}ft{,
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1. Which one of the following is NOT a
problem related to teeth?
A. Bleeding gums
B. Shedding
C. Bad smell
D. Dental carries

2. The following are air passages in the
breathing system. Which one is NOT?
A. Trachea B. Air sacs
C. Nose 'D. Bronchi

3. In the table below which digestive juice is '

NOT matched with the food it digests

Digestive juice Food digested

A. Bile juice Fats and oils

B. Saliva Starch
C. Gastric juice Proteins
D. Pancreatic juice Vitamins

B

Which part of the male reproductive
system deposits sperms into the vagina?
A. Sperm duct B. Testis

C. Penis D. Epidydimis

5. Use the diagram below to answer
question 5

Lungs

Body

Which letter represents the blood vessels
that carry blood under high pressure?

A, Jand K B.Mand L
C.Jand L D. Kand M

6. The following methods will lead to the
spread of HIV and AIDS. Which one will
NOT?

A. Sexual intercourse with infected
persons

B. Shaking hands of an infected person

C. Mother to child during breast feeding

D. Sharing body piercing and cutting
tools

- 007/Std. 8

7. Which of the following stages of HIV and
AIDS infection may an infected person
test negative?

Full blown stage

Symptomatic stage

Asymptomatic stage

Window stage

ooy

8. The following are examples of common
communicable diseases. Which one is
NOT?

A. Malaria
C. Tetanus

B. Tuberculosis
D. Common cold

9. When handling chemicals at home, we
should do all the following except?
A. Wash hands properly after applying
chemicals
B. Storing food in empty chemical
containers
C. Reading instructions properly before
using them
D. Disposing empty chemical containers
' after using them

10.Which one of the following is NOT a
harmful chemical in tobacco?
A. Ethanol
B. Carbon monoxide
C. Tar
D. Nicotine

11.In the table below which weather
instrument is not matched with the
principle under which it works

Weather instrument | Principles

A. Raingauge Liquids occupy space

B. Liquid Expansion and
thermometer contraction

C. Wind vane Air exerts pressure

D. Windsock Air occupies space

12.Which of the following planets takes the
largest time to go round the sun?
A. Earth B. Jupiter
C. Neptune D. Saturn

13.The phase of the moon that is invisible is

Crescent moon
New moon
Full moon
Quarter moon

oo




12.The dragram below shows the female ' 17.The dlagram below shows a type.of soil
reproductlve system _ B erosion.

The_correct identity of the type of 'soit”
. , o , erosion shownis __ :
‘Identify the parts marked W, X and Y A. Gulley erosion

=

respectively? - ’ B. Rill erosio‘n
A. Birth canal, womb, oviduct. - ' C. Sheet erosion ,
o B. . Uteru'VSA cervix, fallopian tube. ' - D. Splash, erosion
; C. Womb, vagina, oviduct. & - . ’ o R n
(- . D. Oviduct, womb brrth Cana' R v 18.Which method of food preservation is
~ , , 1 recommended for preserving tubers-
13.During child rmmunization ‘which vaccine A. Salting - " B. Smoking
~is administered at the age of 6 weeks and- C. Useof ash- . D. Canning
14 weeks? , T s , ) : : :
A, Oralpotio and DPT .~ , 19.What happens when a ray of light-moves
‘B. BCG and DPT . - : ' from a less dense material to a more
C..Oral polio and BCG . dense material?
D. Antimeasles and yellow fever - » A. ltis refracted
» ' ' oo : B. It is reflected
14.Which one of the following is NOT true - 'C. It s absorbed
- about the flower of a maize plant? ' o - D.oltis dispersed -
A The stamen-matures earher than the . ' ‘
nistil. -20. The' diagram below shows an actrvrty

‘B. The stamen and the pistil are found standard 6 PUP"S did.
. On .separate plants -
C. The stamen is formed above the | -pistil.
v D. The stamen produces light powdery
c : pol'en gralno .

__ glass with a hole

burning candle _

P TR ‘ ) basin— _ =
16.A farmer wanted to give his cattle foods | B - .
- rich in proteins. Which of the following . == L =" wete_r_ .
fodder crops was he rec’ommendé& to use o R '
? ' . IR From the activity it is true to say .
A. Lucerne and Desmodrum I -~ A. After'sometime the candle stopped
B. Napier and sweet potato veins .|~ buming '
C. Makueni grass and Napier grass. =~ |  B. Thelevel of water rose in the glass
D. Desmodium and maize stalks.~ S C. The candle continued burning.
o - | D. The level of water dropped in the .
, 16.Which of these waterborne diseases is . basin. ' DA '
well prevented by weanng gumboots and '
gloves? _ 21 Which statement below does’ NOT explam
A. Cholera = B. Typhoid =~ . the function of the placenta?
C. Bilharzias ~ D. Dysentry - A. Facilitate the transfer of food between
o . : _ the mother and the foetus |
. - o o B. Protect the foetus from shock and
‘ ' - . Bk ~ accidental injuries
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C. Enables exchange of waste materials -
between the foetus and the mother
D. Facilitates exchange of carbon dioxide
~and oxygen between the mother and '
the foetus

"

22.A patient v15|ted a hospital showmg the

following signs and symptoms -

(i} Pain when passing out urine

(i1} Pus comes out of the pems

(iii) Fever :

(iv) Difficult when passing out urine
Which of these sexually transmitted _
infections was the patient suffering from?
A. Syphilis ' B. Chancroid

C. Genital herpes D.'Gonorhoea

23.Plants that grow in wet areas have the
following characteristics except? - _
A. Have thin cuticle on thelr leaf surface
B. Have increased number of stomata
-C. Have succulent stems
D. Have large flat leaves

24.The beak below shows a bird- which is

B. Filter feedrer
D. Flesh eater

A. Grain eater
C. Nectar feeder

25.Which one of the following sources of
. water will easily lather with soap7
A. Borehole water. : :
B. Sea waterr S
C. Rain water - Lo o
D. Lake water

'~ 26.The following are soil pollutants Which

one interferes with cnrculatlon of air m the
soil? )

A. Agncultural chemlcals

B. Oil spillage

C: Mining activities

D. Industrial wastes

27.\(Vh|ch one of the followmg is NOT

recommended for expectant mothers?
A. Foods rich in roughages
B. Foods rich in calcium

- 008/Std. 8

-

C. Fried foods
D. Foods rich in iron

+ 28.The following have chemical energy
- Which one does not?
AL Kerosene in a stove
B. Food we eat
C. A rotating dynamo
D. A dry cell

29.Standard Gipupits carried ‘out the aotivityv

shown below o
~ cells .

wire

steel wool

.From the activity, the energy changes
that took place were:

A. Chemical- electrical- heat- Ilght

B. Mechapical- chemical- heat- light
C. Chemical- electrical- magnetism
D. Chemical—»electrical-light—heat

30.Which statement is not correct about a
single fixed pulley when in use? -
A. Effort applied is slightly more- than the

load being lifted.
‘B. Effort distance is equal to the load
" distance

C. Effort applied is against the gravity

D. It changes direction of the effort thus
making work easier

31.The parts of the. breathmg system that
clean’ the air we inhale are
- A, Lungs and trachea
B. Nose and trachea
. C. Bronchi and Iungs
D. Nose and lungs

o 32.Pre.\/enti3ve m.,edicines_ are also known as

A. Curative medicines

- B. ‘Analgesic medicines’
C. Pain killers
D. Vacgines '

33.Which one of the followmg is NOT role
-dlayed by all plant Ieaves?



39.Standard 5 pupils carried out the activity
shown below

String —-/\

Water—

lllll'lllll

I

— Stone

What property of the stone were the
pupils investigating?
A. Volume
C. Weight

B. Density
D. Shape

40.Which statement below describes
sublimation?
A. A solid changing to a gas
B. A liquid changing to a solid
C. A gas changing to a solid
D. A solid changing to a liquid

41.In the table below which mixture is NOT
matched with the method of separation

——Measuring cylinder

Mixture Method of separation
A. Salt + water Evaporation

B. Maize + beans Picking

C. Spirit + water Decantation

D. Sand + water Filtration

42.Standard 4 pupils saw the simple tool
shown below on their school farm

The tool shown is mainly used for

Digging hard soil
Removing weeds from the farm
Gathering rubbish on the farm
Levelling the soil when planting

oowmp

43.The maintenance practice done on simple
tools that prevents them from rusting is

Oiling them
Sharpening them
Cleaning them after use
-Replacing broken handles

ocow»
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44 Which one of the following is NOT an
example of a push or pull on a body?
A. Mass B. Magnetism
C. Weight D. Effort

45.The following are examples of levers.
Which pair shows levers that belong to
the same group?
A. Spade and claw hammer
B. Seesaw and charcoal tongs
C. Nutcracker and door hinge
D. Lid opener and bottle opener

46.Which machine below does NOT make
work easier by increasing the effort
distance?
A. lLadder
B. Winch
C. Read winding up a hill
D. Ramp

47.Which one of the following is NOT true
about water?

. Water mixes with all liquids

The boiling point of water is 100% -

When heated it evaporates ‘

Water is a universal solvent

cows>

48.What quality does mercury have that
makes it better to be used in a
thermometer
A. Shines
"B. - Slides easily
C. Expands easily
D. Cannot contract

49.Who among the following cannot be
classified under a special group in
nutrition? o
A. Lactating mother
B. Adolescents
C. Infants
D. HIV and AIDS patients

50.Which one of the following shows waste
products excreted by the lungs?
A. Urea and excess water
B. Water vapour and carbon dioxide
C. Excess mineral salts and urea
D. Carbon dioxide and urea
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Use the map of Wapo area to answer questions

17
1.

The lowest part of Wapo area is around.
A. The forest B. The swamp
C. The quarry D. The markets

Which of these natural vegetation is likely to
be found in the South Western part of the
map?

Heath and Moorland -

Forest

Papyrus reeds

Euphorbia

com»

Which of these is an evidence of towsism
activities in Wapo area?
A. The tarmac road

B. The cultural centre
C. The tea crop

D. The town
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P.P — poLICE POST

-

% — CULTURAL CENTRE

OO0O— PERMANENT

" C. North - East

BUILDINGS

One of these social services is NOT
available in Wapo town area. Which one is
it?

A. Health
C. Security

B. Transport
D. Retigion

From which of the following directions does

. Wapo area rise?

B. South - East
D. North - West

A. South — West

It is true to say that Wapo area
Represents/ a division

Receives unreliable rainfall
Represents a county

Has only two economic activities

oom»

. The approximate length of the tarmac road

in Wapo area is likely to be
A. 13.56 km B. 19.5 km
C. 5.5km D. 9.5 km




8.

10.

11.

12.

oOow>

13.

Which of the following is NOT an economic

importance of mountains: and hills?

A. The leeward side of mguntains is useful
to pastoralists - ..

B. The windward side of mountains is
useful for dairy farming

C.  Some hills and mountains are sources of
useful minerals. .. :

D. Some hills and mountains have been
used as hiding places when there is war.

The following are traditional methods of

weather observation, which among them

indicated the onset of a rainy season?

A. Movement of large swarms of locusts

B. Shedding.of leaves by some trees

C. A sudden rise of temperature especially
at night

D. Appearance of the full moon

One of the following weather instruments
can be kept in a Stevenson screen. Which
one is it?

A. The six’s thermometer

B. The rain gauge

C. The anemometer

D. The windsock

Saoil is the layer of material on the earth’s
surface on which plants grow. It is formed
through a process known as

A. Eruption B. Erosion

C. Weathering D. Deposition

The following information relate to a kind of

soil found in Kenya.

(i} Itis red in colour

(ii) It is deep, fertile and well drained

(iii) It supports growth of various crops

{(iv) It is found in some parts of the Rift
Valley.

The kind of soil described above is

Alluvial soil )
Black cotton soil
Volcanic soil
Sandy soil

Masen'o, Soléi, Nanyuki and Hagadera towns
have one thing in common. It is that

A. They are all found in the highlands

B. They are all found on the windward side
of mount Kenya

C. The equator passes near the towns

D. They are all found in the coastal plains
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14.Gulley erosion is best controlled by

A. Planting cover crops-

. B. Reducing the number o'fwlivestbck in the

15.

16.

17.

18.

19.

20.

21.

farm
C. Building check- dams
D. Practising crop rotation

One of the following mountains found in
Eastern Africa is classified as a dormant
volcano. Which one is it? -

A. Kilimanjaro

B. Mount Elgon

C. Mount Oldonyo Lengai

D. Mount Longonot

The country that lies to the East of Niger is

A. Aléeria
C. Nigeria

~ B. Chad
D. Mali

The following countries are found in Africa.
Which among them border the Atlantic
Ocean?

A. South Africa and Mauritius

B. Mauritania and Sierra Leone

C. Tunisia and Algeria

D. Congo and Djibouti

The time at Cape verde located at 17° West
is 4.00 p.m. what is the time in a town
located at 23° East of the Greenwich
Meridian?

A. 1.20 p.m
C. 1.20 a.m

B. 6.40 a.m
D.6.40 p.m

Most lakes found on the Western Branch of
the Rift Valley were formed as a result of

A. Down warping
B. Faulting

C. Glaciations

D. Volcanic action

The following facts are true about River Nile
except one. Which one is it?

A. It flows out of a lake

B. It has cataracts along its course

C. Some parts of the river are navigable

D. It has only one tributary

A large part of the African continent is
located within

A. The coastal plains

B. The plateau region

C. The highlands

D. The rift valley region




22.0ne of these towns is located within the
- equatorial climatic region of Africa. Which

one is it?
A. Walvis. Bay 'B. Casablanca
C. Younde ‘D. Windhoek

23.Three of the following are characteristics. of

Mediterranean climate in Africa except one.

Which one is it?

A. The climate is experienced in the Cape
region of South Africa.

B. The Westerly winds influence the rainfall
pattern in the climatic region.

C. The climate experiences hot and dry

" conditions during summer

D. The region is hot and wet throughout
the year.

24.Which of these African rivers has an estuary
at its mouth?
A. The Nile
C. River Zambezi

B. River Niger
D. River Tana

25. Desert vegetation consists of the following

except

A. Poor and scattered vegetation

B. Plants with long roots and thorny leaves

C. Euphorbia, shrubs and short tough
grasses.

D. Elephant grass and trees such as fir and
beech - S

26.Which of these Bantu speaking communities
migrated into Eastern Africa through the
route between Lake Edward and Lake Kivu?
A. Wanyamwezi B. Wangindo
C. Agikuyu D. Abaluyia

27.0ne of the following sets of communities
consists of highland nilotes. Which one is it?
A. Kipsigis, Sabaot and Nandi
B. Pokot, Maasai and Njemps
C. lichamus, Pokot and lteso
D. Samburu, Kumam and Tugen

28.The Igbo, Edo and Nzima are communities
that migrated and settled in .
A. Eastern Africa B. Western Africa
C. Central Africa D. Northern Africa

29.In Africa the Berber community is mainly
found . .
“A. In the Namib desert
B. In the Kalahari desert
C. In the Maghreb region
D. Around the lake Basin

30.In the early Stone Age the creatures that
were undergoing evolution mainly obtained
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food through one of the following methods.
Which one is it? Tl

“A: Farming -

- B. Fishing
C. Hunting and gathering
D. Domestication of animais

31.0ne of the followjng pre-histeric sites is
located near Lake Natron. Which one is it?

A. Peninj

B. Afar Depression
C. Hyrax hill

D. Ishango’

32.Some people were moved from their original
home districts to areas where the
government established some irrigation
schemes. Such a migration can be described
as

Rural — Urban migration
Urban - rural migration
Rural - rural migration
Urban — urban migration

oowp

33.0ne factor that has led to slow population
growth is
A. Low mortality rate
B. Early marriages
C. Naming system among African
communities
D. Rise in the cost of living

34.Which of these facts about population
structure of Germany is true?
A. Life expectancy in the country is low
B. The population is youthful
C. Most of the people live in urban centres
D. The population is concentrated along
river valleys.

35.Which of these types of marriage is
officiated by clan elders?
- A. Customary marriage
B. Civil marriage
C. Jewish marriage
D. Christian marriage

36. Testate succession is followed in a case

whereby .

A. The deceased did not own any property

B. The deceased had prepared a will before
death

C. The deceased had not prepared a will
before death

D. The deceased did not have dependants

37.0ne effect of settler farming in Kenya was




38.

39.

40.

41.

- 42.

43.

A. Introduction of livestock keeping in the
_country
B. Introduction. of arable farmmg in the
country
C. Creation of African reserves
D. Establishment of traditional forms of -
government :

The foltowing describes a crop grown in

Africa. »

(i) Requires high temperatures

(i) Requires heavy and evenly distributed
rainfall

{iii) Requires protection from strong winds
and strong sunlight

{iv) Requires deep, well drained and fertile
soils.

The crop described above is
A. Cocoa B. Tea
C. Pyrethrum D. Sisal

Three of the following are pyrethrum
producing areas in Kenya except one. Which
one is it? -

B. Limuru

A. Molo
€. Nyamira D. Kilifi
One condition that favours pastoral farming

in Africa is

A.. high population density in pastoral
farming areas.

B. low population densuty in pastoral
farming areas.

C. high and reliable ramfa]l that favours
cultlvatlon of crops.

D. presence of dense forests in pastoral
farming areas.

In which of these counties found in Kenya is
Mwea Tebere irrigation scheme found?

A. Machakos B. Muranga
€. Makueni D. Kirinyaga
Three of the following crops are grown in

Perkerra irrigation scheme. Which one is
NOT?

A. Seed maize B. Onions
C. Chillies . D. Sugarcane
In both Kenya and Netherlands horticultural -

crops

A. Are mainly grown i reclaimed lans.

B. Are mainly grown on natural land.

C. Are a source of raw material for some
industries

D. Ase only consumed locally
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Use the map of Africa to answer questions 44-
46 :

44,

45,

Com>

47.

One charactenstlcs of the natural vegetation
found in the area marked AA is that

the trees have'waxy and shiny,feaves.

the trees are short.
the forests have heavy undergrowth.
the trees form canopies.

cowp

The main mineral mined in the country
marked B on the map is used

to determine the wealth of countries.
to make electricity transmission wires.
to make water pipes. -

to make bitumen.

cow>

.It is true to say that the country marked E

Was never colonized

Was a former Belgian calony
Was a former Portuguese colony
Achieved independence in 1960

The following areas are found in Kenya
(i) Bamburi

(i) Sagana

(i) Kibos

{iv) Lake Jipe

(v} Kabaru

(vi) Aruba dam

The above areas have one thing in common.
They are all
A. Pre-historic sites

B. FKsh farming areas

C. Mining sites

Horticuttural farming areas

©




48.

So®m>|

49.

50.

51.

52.

53.

54.

Both fluorspar and diatomite are minerals
obtained througha method known as

~“Open - cast mining
Deep shaft mining
Dredging
Panning

The following describes a fishing method
(i) A cone - shaped net is fixed to a boat
(i) The net is pulled by a moving boat

(iii) The net traps all the fish along its way.

The method described above is known as

A. Purse seining B. Angling
C. Net drifting D. Trawling
Which of the following was NOT an

objective of forming the common Market for

Eastern and Southern African (COMESA)?

A. To promote trade among-member states

B. To encourage member state to produce
different types of goods.

C. To encourage member states to collect
more taxes at the border points.

D. To reduce unnecessary competition
among member states

Many people in Kenya do not make use of
railway transport mainly because the form
of transport.

A. lIs slow

B. Is expensive

C. Experiences many accidents

D. Is affected by traffic congestion

A factory that changes limestone into
cement is likely to be established

A. Near the source of raw materials
B. In a densely populated area

C. Near a large market for the product
D. Near an interngtional airport

Which of the following is a major tourist
attraction in Zimbabwe?

A. Sandy Coastal beaches

B. The Gedi ruins

C. The Victoria falls

D. Kruger National Park

The following are African countries. Which
set consists of former French colonies?
A. Djibouti, Algeria and Libya

B. Zambia, Zimbabwe and Angola

C. Tunisia, Benin and Mali

D. Sierra Leone, Gambia and Morocco
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556. Three of the following were reasons for the
scramble and partition of Africa. Which one
is NOT?

A. Search for oVerséas markets for their
manufactured goods

B. Desire to protect their missionaries and
traders

C. Desire to promote the African culture

D. Some wanted to control important trade
routes in Africa

56. The Ancient kingdom of Old Ghana had
kings who employed Muslims to work in the
civil service in three of the following
categories except?

A. To work as ministers

B. To work as priests

C. To work as tax collectors
D. To work as clerks

57.In which of the following years did the
Sharpeville massacre take place in South
Africa?
A. 1952 B. 1918
C. 1989 D. 1960

58. Members of the National Assembly in Kenya

can lose their seats if

A. They are arrested by the police

B. They differ with their party leader on
policy matters

C. Their election is nullified by a court of
law _

D. They do not contribute during debates in
the National Assembly

59. The swearing in of members of the National
Assembly is done by the

Speaker

Chief Justice

-Attorney General

President

cowp

60.One duty of Cabinet members in Kenya is to

A. make laws for the nation.

B. give advice to the president.

C. approve the appointment of senior
government officials.

D. elect the speaker of the senate.

CHRISTIAN RELIGIOUS EDUCATION

61.The punishment of Adam and Eve in the
garden of Eden MAINLY came as a result of
A. Talking to the serpent
B. Failing to offer sacrifices to God
C. Their disobedience to God
D. Eating fruits in the garden of Eden .




62. Then God commanded, “Let there be a
dome to divide the water and to keep it in
two separate places” - and it was done.
This happened during
A. The first day of God's creation
B. The second day of God’s creation
C. The third day of God’s creation
D. The fourth day of God'’s creation

63. Joseph overcame temptations from the wife
of Potipher because
A. he was a good dreamer.
B. he trusted in God.
C. he was hardworking.
D. he was courageous.

64.Which of these activities was carried out by
Israelites on the night of Passover in Egypt?
A. They ate quails
B. They ate unleavened bread
C. They ate manna
D. They made a golden calf

65.Who among the following personalities in
the Old Testament broke the tenth
commandment of God?
A. Cain
C. Ahab

B. Joshua
D. Saul

66. Gideon rescued the Israelites from the
Midianites. Gideon was from the tribe of

A. Levi
C. Manasseh

B. Dan
D. Judah

67.Elijah challenged the prophets of Baal on
one of the following mountains. Which one
is it?
A. Mount Moriah
B. Mount Carmel
C. Mount Nebo
D. Mount Hebron

68. Jerusalem became the Israelites centre of
worship after the Ark of Covenant was
brought there by king
A. Ahaz
C. Solomon

B. Josiah
D. David

69. According to prophet Jeremiah the New -
Covenant would be different from the Old
Covenant because
A. Each person will be punished for their

own sins t
B. It would be written on scrolls
C. It would be written on stone tablets
D. It would be sealed on Mount Sinai

¢
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70. The boy raised to life by prophet Elisha was

the son of

A. A poor widow

B. The widow of Nain
C. A Canaanite woman
D. A rich woman

71.Which of the following happened when
Jesus died?

Zechariah was visited by an angel

The angels sang in heaven

There was an earthquake (

The Holy Spirit descended on H|m in

Form of a dove

ocnm>

72.Jesus fed 4000 people with seven loayes
and a few small fish .From this mirache.
Christians learn to be
A. Honest
C. Generous

B. Humbie .

D. Forgiving .
73.Jacob wrestled with an angel of God ifgne

of the following places. Which one is it? ~

A."Luz B. Bethel ~ °

C. Bethany D. Peniel

74.0MNe of these parables of Jesus teaches. us
toitreat our neighbours well. Which one is
it2! ,

A. The parable of the hidden treasure

B. The parable of the master and the three
servants
The parable of the lost sheep

*’D The parable of the Good Samaritan

75 Gne of the followmg members of the early
éhurch died because of cheatlrlg the
ostles. Whom is it?
R Sa phira
C., B@%\

B. Gamaliel
abas D. Barsabas

76. After king Herod died God informed Joseph
to return to Israel with baby Jesus and the
mother through one of the following ways.
Which one?

A. TFhrough a dream

B. Thl:,pugh a medium
C Through a prophet
‘0. Through the wisemen

7#.In"what way d|d Jesus show that He obeyed

the Jewish law?

A. He healed on a Sabbath

B. H'e;_/g‘é'spised the Pharisees

C. advised his disciples to pick ears of
corn on a Sabbath.

D. He advised the healed lepers to present
themselves before a prie§t.
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79.

80.

81

82.

83.

84.

8b.

A. Sychar

78.Which of these activities was done by Jesus

Christ after He had resurrected?
He baptized converts '

He healed the sick in Jerusalem
He ate with the disciples

He washed the disciples feet

oWy

Who suggested that they should make three
booths on a mountain during the
transfiguration of Jesus?
A. Peter ‘

C. Moses

B. John
D. James

According to Act 9:32-34 Peter healed a
man who had been paralyzed for eight
years. This happened in a town known as

B. Lydda

C. Joppa D. Troas

.Which of these fruits of the Holy Spirit

enables us to fulfill our promises?
A. Humility B. Faithfulness
C. Peace D. Patience

One of these books found in the New
Testament is a letter. Which one is it?
A. Acts of Apostles

B. Revelation

C. Jude

D. John

“Lord ! Do not remember this sin against
them!” These words in the books of Acts
chapter seven were spoken by .
A. Jesus B. Stephen

C. Saul D. Barnabas
According to the Apostles” Creed Jesus
suffered under

A. King Herod

B. The High priest

C. Pontius Pilate’

D. The Sanhedrin

King Solomon was known for his wisdom. -
He ruled Israel for a period of

008/ Std. 8

86.

87.

88.

89.

90.

Four decades
Two decades
Fifty years
Thirty years

cow>

In traditional African societies the bloodshed
by the initiates united them with

Their peers

The ancestors

Their parents

Their siblings

Com>

In the traditional African society a pregnant
woman was usually kept in secret during
her last months of the pregnancy

A. In order to protect her from the husband
B. In order to protect the life of the unborn
C. In order to give her enough time to pray
D. In order to give her quality food

In which of the following ways did people in
traditional African society thank God for a
good harvest?

A. Going to pray in the church

B. Shaking hands with the enemies

C. Giving offerings to God

D. Visiting their neighbours

One of the following is a SIMILARITY
between traditional African religion and
Christianity. Which one is it?

Marrying of many wives

Worshiping God through His son
Worshipping God through ancestors
Having a special place for worshipping
God.

©OOo®m»

You have recently discovered that your best

friend is involved in drug abuse. As a

Christian you should .

A. advise him or her to visit a counsellor.

B. advice him or her to run away from
home.

C. report the matter to the police.

D. report the matter to the parents.






